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PART—I / «i—I
General Knowledge / AT {1

1. Who among the following was the 1. W yRa o Refafea & @ 99 g8 5w
founder of the Gupta Dynasty in T T A7
ancient India?

(A) T8 TEH
(A) Chandragupta I
(B) Hg=TH
(B) Samudragupta
(C) Srigupta (C)
(D) w<TH

(D) Skandagupta

2. At which of the following places 2. Pt 3 § FrA WM @ e 3

Sher Shah built his own =1 wepary e fopann?
mausoleum?
(A) AT
A) A
(A) Agra B)
(B) Sasaram
(€) g
(C) Delhi
(D) HAgYL HIR{l

(D) Fatehpur Sikri

3. Pefifea & 4 BE wem 3 TS @

3. Which of the following events gl wHfea oeeR o oS %@
pushed Gandhiji into the arena of e Re?

Indian Freedom Movement?

(A) Jallianwala Bagh Massacre (A) feraaTe S TS

(B) Death of Lokamanya Tilak (B) A o 6 7Y
(C) Partition of Bengal (C) st ot fareH
(D) Outbreak of First World War (D) ¥IH ﬁ?agam IR

SPACE FOR ROUGH WORK / T &M % Tei¢ Sg
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4. In which of the following years

Bhagat Singh, Sukhdev and Rajguru
were hanged?

(A) 1911
(B) 1922

(C) 1926

(D) 1931

At which of the following places the

Kalachuris first established their
regime in this State?

(A) Tumman

(B) Ratanpur

(C) Khallari

(D) Raipur

During the reign of which Governor-

General, this State was merged into
the British Empire?

(A) Lord William Bentinck

(B) Lord Ellenborough

(C) Lord Dalhousie

(D) Lord Canning

Who among the following was not

the leader of Kandel Canal
Satyagraha in this State?

(A) Pt. Sunderlal Sharma
(B) Nathuji Jagtap

(C) Narayan Rao Meghawale
(D) Pt. Ravishankar Shukla

. Fefofen #§ @ e af wm R,

3R TR A B @ E?
(A) 1911
(B) 1922
(C) 1926
(D) 1931

. Fefafes 4 @ e ©=m w e

W 39 T A T A i
(A) gemT
(B) TR
(€) wgrd
(D) T

. Fafafae & @ s wwResw

AR § 30 UST A RS @y
farer gan?

(A) i€ faferm sféw
(B) @€ TAMeRY

(C) e Serdsh

(D) e i

. Tefafes # @ 99 o §

HAWE o a1 78 97

(A) Yo getenar yMl

(B) eefsft ST

(C) TRFT [ HemErd
(D) To iR 7t

SPACE FOR ROUGH WORK / % %1 & Tt g
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10.

11.

12,

At which of the following places in
this State, Labour Movements took
place three times?

(A) Raigarh
(B) Rajnandgaon

(C) Kawardha

(D) Bilaspur

Which of the following planets is
farthest from Sun?

(A) Mars
(C) Uranus

(B) Saturn

(D) Pluto

Which of the following years is not a
leap year?
(A) 1900
(C) 1980

(B) 1940
(D) 2020

Global warming is the result of

(A) increase in carbon monoxide in
atmosphere

(B) increase in carbon dioxide in
atmosphere

(C) Both (A) and (B)

(D) None of the above

On which of the following rivers
Nagarjuna Sagar project located?
(A) Krishna (B) Godavari

(C) Cauvery (D) Tapi

10.

11.

12,

70 U591 FrafaRas & @ fre ©m wdw
AR Hie e gu?

() TG
(B) TsHied
(C) hereaf
(D) feemagR
Aefifes § ¥ F9-w T g T
afis | Y
(A) W&
(C) =T&

fefafegs & & FF-w 9 dw =W
(o) =i 27

(B) R
(D) T

(A) 1900 (B) 1940

(C) 1980 (D) 2020

A a3 afg (ehea ari) feae
qitomm 87

(A) TIHVSEH F FEH AHGEEES B AE H
kLT

(B) AYHSH § HEA SEATFAEES Hi 4l
7 3f%

(C) (A) wen (B) 3wt

(D) 9w & & B8 T

e AR e et § @ R T
T R 27

(A) P
(C)

(B) =l
(D)

SPACE FOR ROUGH WORK / T &M % Toig S8
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13.

14.

15.

16.

Lignite is associated with which of
the following cities?

(A} Jharia

(B) Neyveli

(C) Korba

(D) Kalpakkam

Which of the following rivers is not
a tributary of Mahanadi?

(A) Shivnath

(B) Jonk

(C) Pairi

(D) Indravati

The area of this State is about

(A) 135000 km?

(B) 140000 km?

(C) 145000 km?

(D) 130000 km?

Which of the following districts is

not in the northern part of this
State?

(A) Surguja
(B) Balrampur
(C) Jashpur
(D) Narayanpur

13. fommge fi=fflas & @ fpm
Hefd 87

(A) wfen
(B) =t
(C) WR=T
(D) cUsHA
14, fafafas & 4 w=9-f 6 mw=@E
e A4 T8 87
(a) TR
(B) i
(C) ¥
(D) FHER

15. 39 TS 1 &A% 3 T
(A) 135000 = fho o
(B) 140000 7 fFo o
(C) 145000 =t fho o
(D) 130000 = fho Hio

16. f=fafaa # @ w9-w Nen @ w
I i 7w 27

(A) wxgsT
(B) SeRHY
(C) SRIg
(D) TR

SPACE FOR ROUGH WORK / W &M % fiu wrg
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17. If Sarpanch is recalled, what will
happen?

1. He will vacate the office.

2. He can challenge the procedure
within 7 days.

3. He can file a petition before the
Collector.

4. He can file a petition in the High
Court.

5. He will continue his office till
the decision.

(A) 1, 2 and 3

(B) 2, 3 and 4

(C) 2, 4 and 5

(D) 2, 3 and 5

18. What is correct about Janpad

Panchayat?

1. The name of elected members,
President and Vice President
will be published.

2. The meeting of Janpad
Panchayat will be called within
30 days of the above
publication.

3. The meeting of Janpad
Panchayat will be called within
15 days of the above
publication.

4. The five-year tenure is counted
from the date of above
publication.

5. The five-year tenure is counted
from the date of first meeting.

(A) 1, 3 and 4

B) 1,3 and 5

(C) 1,2 and 5

(D) 1, 2 and 4

17. aR w9 yomEfdd fFn oS @, @

18.

1 g ?
1. 9% 9g @rell o <)

2. 9z ua A % it vk & g 9
TRl B

3. U8 HodR F GHY AT T W
T 2

4, 98 I AEEE H AR T W
el B

5. ag Fof A9 a% U I8 | S W
A) 1,27 3
(B) 2,3 4
(C) 2,45
(D) 2,3TW 5

THYE UaTa % fawa #§ = wd 77

1. Teifa gewl, seas iR JUeay &
T TeRIITa Tkl SITQ

2. 3% YBRME % 30 A & fiw e
v S AeH e S|

3. 3% UHNE ¥ 15 A & i s\ ue
T ol 43 Tas Sl

4. IF TEEA H R § ofw 9§ B
~ arafer Y oM SR ST R

5. Wom Oled & far @ og 9§ &
arafty & Tomn <Y S ®)

A) 1,37 4
B) 1,3TW 5
C) 1,2TW 5
(D) 1,274 4

SPACE FOR ROUGH WORK / T &M % g Sire
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19. What is

correct about the

composition of Zilla Panchayat?

1.

The members elected by the
voters from the district.

The members of the Lok Sabha
elected from the district.

The members of the Lok Sabha
elected from the district whose
constituency is not fully urban
area.

The members of the Legislative
Assembly elected from the
district.

The members of the Legislative
Assembly elected from the
district whose constituency is

not fully urban area.

All the Presidents of Janpad
Panchayats of the district.

20% Presidents of Janpad
Panchayats of the district.

1, 2,4 and 6
1,3,5and 7

1,2,3and 7

(D) 1, 3, 5 and 6

19. e v=ma i @ F wery

g Ry
1. o gaemedt gr Fathe aem
2. T @ faifm Ao gem=)

3. R ¥ fFaifaa Ao o=
Fafe-a9 o @ @ 7T &

4, Tym @ wem W @ W
Faffa 8

5 s e wt@an
? R R fated-8a @«
T & 7 2

6. Tl % SR yeIEmEl & aft e
7. Tl %S9 qEmEl F 20% 1w
(A) 1,2,4TE 6
B) 1,3,5Td 7
(C) 1,2,3WwW6 7

(D) 1,3,5T 6

SPACE FOR ROUGH WORK / W% ®d ¥ fou smw
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20. If an ordinance is resolved by the

21.

State Legislature, then what will
happen?

1. The ordinance will become Act.

2. The signature of Governor will
be essential for its enactment.

3. The Governor can refer it to the
President.

4. The decision of the President
will be final.

(A) 1 and 3
(B) 1 and 4
(C) 1 and 2

(D) 3 and 4

Who is responsible to implement the
policies in State Government?

(A) Ministry
(B) Directorate
(C) Collectorate

(D) Secretariat

20. IR wF ey T faum @ g wika

21.

B ST 8, A am?
1. srearew AffEm s= ST

2. T4 sfufalm =1 % fag T o
TEAILT ST M|

3. TomE W owEl W wehid W
TepelT 2 |

4. Tgafa w1 foka sifow
(A) 1@ 3
(B) 1T 4
(C) 1T 2

(D) 3W 4

9 @R § it @ hafea &1 %
T 9 Iwer R7

(A) T
(B) e
(C) FARRE

(D) whEe™

SPACE FOR ROUGH WORK / T &M & fo7g g
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22. Which of the following can be
amended under the Article 368 of
the Constitution?

1. Rule of Law

2. Democratic pattern of the
Government

3. Secularism

4. The tenure of the President
5. Bicameral Legislature

(A) 1 and 2

(B) 2 and 3

(C) 3 and 4

(D) 4 and 5

23. In which of the following stages the
cut motion in the budget can be
introduced?

(A) Preparation of budget
(B) Introduction of budget

(C) Discussion on demand for
grants

(D) Consideration on Appropriation
Bill

22. HEUW % JFRE 368 % IFid T
A 4 fortt wxiifta form s wskar 37

1. Taf = wmem

2. IEH o YA EEq
3. qufRasa

4, qgufy f =iy

5. TeweTores faarmven
A) 1TE2

(B) 2Td 3

(C) 3T 4

(D) 4T 5

23. fmfafaa § ¥ fFg w0 @ w9 &
TS Y Toham ST Hepar 27

(A) T 6 a9’y

(B) SISE 1 TRt

(C) INEH-AM | 58H
(D) fafrns fates w ==t

SPACE FOR ROUGH WORK / % %® % i s
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24.

25.

What is not correct about the
committee related to SC-ST welfare
of the Parliament?

(A) It contains 30 members.

(B) The ratio of members of the Lok
Sabha and the Rajya Sabha
is 2: 1.

(C) Its tenure is one year.

(D) Only Home Minister is the ex
officio member of this
committee.

Assertion (A) :
Formic acid is stronger acid than
acetic acid.

Reason (R) :

Formic acid is an organic acid.
(A) (A) and (R) both are correct
and (R) is the correct
explanation of (A)

(B) (A) and (R) both are correct
but (R) is not the correct
explanation of (A)

(C) (A) is correct but (R) is incorrect

(D) (A) is incorrect but (R) is correct

24, Thg H sggfya s 3R sggfea sFfd

25.

Fea aftif & v § = ad i 2?
(A) 3@ 30 T T B

B) @ q AR TS /N F TEE B
3fguTd 2 : 1 T 2

(C) TG HRIHE TF 9 2l 8 |

(D) ¥ e T WUl H G W=
Brar 7

%Y (A) :
wiffs onw THRE o @ e
I R

%R (R)
T STt Tk hTeiieh 3T B

A) (A) @ (R) 3\t @& ¥, @ (R),
(A) 1 T =T B

(B) (A) @ (R) 3 @& 8, Wy (R),
(A) ! T =R & B

() (A) w2, =g (R) Tewd 2

(D) (A) 7o }, Wg (R) W& 2|

SPACE FOR ROUGH WORK / & &1 % fog 97®
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26. Match List-I with List-Il and select | 26. G-I FI FH-II ¥ gl *t 3in
the correct answer using the codes ET ! TEEA A U IW H T AR
given below :

i1 -1
List-I List-IT
(Properties) (Metal) () (479)
. ST ﬁl’g?[ Famq 1. Qﬁfﬁlﬁ
a. Best conductor of 1. Aluminium @ = ol
heat and electricity R .
b. Most malleable and 2. Mercury . Qa*—lfltﬂg r t{m
soft metal c. YWUA # vEifs gEm wm 3. St
c. Most abundant metal 3. Silver e &g
in earth’s crust d. g1g S M F qUHEE W sH 4. 9
d. Metal which is liquid 4. Gold B &
at room temperature %e :
Codes : @) a b . d
(A) a b c d 4 3 2 I
4 3 2 1
B)a b ¢ d
B) a b c d 2 1 3. 4
2 1 3 4
C)a b c d
€ a b c d 3.4 _1,.92
3 4 1 2
(D) a b c d
D)a b ¢ d 1 12 ‘B bed
1 2 3 4
27. Among the following which gas is | =" Emﬁ il
i ong the following which gas is T ?
easily absorbed by haemoglobin? B g
(A) Methane () =
(B) Carbon dioxide (B) R STRHARIES
(C) Sulphur dioxide (C) HoH SRS
(D) Carbon monoxide (D) TEH AMTEE

SPACE FOR ROUGH WORK / % &/ % fow wme
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28. Consider the following statements :

29.

1. In simple bulb only 5% to 10%
electrical energy is converted
into light energy.

2. The filament of bulb is made up
of tungsten having low melting
point.

3. Mica is a good electrical

insulator.
4. Among four bulbs of 25 W,
40W, 60W and 100 W, the

bulb with 100 W has the lowest
resistance.

The correct statements are
(A) 1, 3 and 4
(B) 2, 3 and 4
() 1,2 and 3

(D) All the statements are correct

Pregnant women usually become
deficient in

(A) sodium and calcium
(B) iron and sodium
(C) magnesium and iron

(D) calcium and iron

28. Trfifaa ol w fmr AT

29.

1. oTIRY ded # Yea I H FaA 5%
¥ 10% o1 Foit § ufafda B 2

0. dcd 1 Thamie TR H o1 BT 8,
gt et B B B

3. Wgw fgq & TR IS U
(forgarieR) &1

4. 25W, 40W, 60 W @@ 100 W &
IR soel ¥ ¥, 100 W It Sed 6
gy e B ')

Té F B

A) 1,3TE 4

(B) 2,3 T 4

(C) 1,2Td 3

(D) @t Fer W B
it afeensdl # W= _ 6w
RG]

(A) Tfem @ SHickEm
(B) 3IFRA T Aifean
(C) Hiiftem wd I
(D) HfArEm T

SPACE FOR ROUGH WORK / T% %1 & forg sie
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30. Who among the following was the

31.

32.

propounder of the Ajivika Sect?
(A} Purana Kassapa

(B) Pakudl:la Kaccayana

(C) Makkhali Gosala

(D) Ajita Kesakambali

Who among the following was the
author of Tarikh-i-Sher Shahi?

(A) Abbas Sherwani
(B) Mirza Kazim
(C) Qasim Ali Farishta

(D) Khafi Khan

Which of the following organizations
was founded by Jyotiba Phule?

(A) Bharat Sevak Samaj
(B) Satyashodhak Samaj
(C) Prarthana Samaj

(D) Paramhansa Samaj

30. f=fafae # ¥ ¥ st 9w
Yades A7

(A) @

(B) FET BT
(C) HrEel Tena
I EEISCENETRI

31. fafufgs & @ =9 aig-v-9iam
AGS A7

(A) STETH IREHT
(B) To=it wifsm

(C) Ffm s1eft wiwar
(D) wTh @t

32. fafafag & @ frg dmew B =
Hifoa o g TE o7

(A) G HTF GHTS
(B) HIENYSH TUS
(C) el g9

(D) TEE THN

1007 ITTFE=IT/ROF_W/4.-A
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33. At which of the following places in

34.

35.

36.

this State the ancient temple of
Deorani and Jethani exists?

(A) Pali

(B) Janjgir

(C) Mallar

(D) Talagaon

Which of the following fairs is held
twice in a year in this State?

(A) Bamleshwari fair

(B) Danteshwari fair

(C) Rajim Kumbha fair

(D) Khallari fair

‘Kaksar’ is the religious folk dance of

which of the following tribes of
this State?

(A) Gond

(B) Maria

(C) Muria

(D) Halba

Which sector has contributed
maximum in the GDP of India?

(A) Agriculture and Allied sectors
(B) Industry

(C) Services

(D) All of the above

33.

34.

35.

36.

@ 79§ fefafae @ e wm w
g Sau o Sierh i & 27

(A) uTel
(B) wisFfR
(C) #&r
(D) AT

g T § PR § @ Sa-w den o
9 IR A fora Smar 27

‘FHaR’ T@ U9 @ Pl § @ TR
St = enfifes Siehged 87

() e

(B) wifgm

(C) gRem

(D) Te=l

WA ¥ Geohel el SR # Fem &
Amer Tad ek 37

(A) FN & =g &

(B) &M

(C) Famg

(D) 39w wft

1027 /UE-JT/RCE-E/4-A
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37.

38.

39.

40.

Which is mnot included in the

secondary sector of economy?

(A) Mining and quarrying

(B) Manufacturing

(C) Electricity, gas and water
supply

(D) Construction

In  which place,  agricultural

machinery test laboratory is

established in Chhattisgarh?

(A) Bilaspur

(B) Rajnandgaon

(C) Raipur

(D) None of the above

What percentage of loan is managed
by the beneficiary himself under the

Prime Minister Agricultural
Irrigation Scheme?

(A) 30%

(B) 40%

(C) 50%

(D) None of the above

What is the rank of Chhattisgarh

State in India under forest covered
area percentage?

(A) 4th
(B) 5th
(C) 3rd
(D) None of the above

317.

38.

39.

40.

rfegeeen % fodaes & 9 60 wife
foran ar 27

(A) @H TF G

(B) fafamior

(C) T, u v v mfd
(D) Fmfm

SUaTe ¥ HR-ai vheer e
forg T R e e e 27

(A) TeemEgR

(B) TrSHiETE

(C) TR

(D) 3w # A S T

TurEt HiY e A % e fe

1 e wRiea s W = @ e
RECIR

(A) 30%
(B) 40%
(C) 50%
(D) 3w & § 8 e

FEBIea &be ufawa W g
THEITG TSI T R | =1 H 27

() =gd
(B) w=H
(C) g™
(D) 39 & | 1§ T

SPACE FOR ROUGH WORK / T %M & forg g
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41.

42.

43.

The present Chief Justice of this
State is

(A) Thottathil Bhaskaran Nair

Radhakrishnan

(B) Thottathil Bhaskaran

Radhakrishnan
(C)
(D)

Dipak Gupta

Pritinker Diwaker

The captain of Ranji Trophy team for
cricket of this State is

(A) Mohammed Mudhasir

(B) Mohammad Kaif

(C) Mayank Agarwal

(D) None of them

Which of the following States are the

major beneficiaries of the UDAY
Scheme?

1. Punjab

2. Haryana

3. Chhattisgarh
4, Rajasthan

5. Odisha

(A) 2, 3, 4 and 5
(B) 3, 4, 5 and 2
(C) 4, 5, 1 and 2
D) 1, 2, 3 and 4

41.

42.

43.

W T % dAAFSN qed e
HH 87

(A) drgTre TRER TR THTRH

(B) NRIET HREHTT TUTFIH

(C) <o Tal

(D) Tafier faame

w2 fehe dm % foT @ TS W
FAH HH 87

(A) WG GIRERR

(B) WiEHTE %%

(C) W AT

(D) ¥ & 1§ T

31 (UDAY) 3o & T Atk -3
T e g 87

1. W

2. gRamm

3. U

4., TSN

5. afem

A) 2,3,4TW5
B) 3,4, 5 2
(C) 4,5, 1 T2

D) 1,2,3 W4

SPACE FOR ROUGH WORK / T &/ % foTg Pl
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44. This

45.

46.

State will organise
National Games in

(A) 38th, 2020
(B) 37th, 2020
(C) 38th, 2019

(D) 37th, 2019

The first ‘Antyodaya’ train of India
plied between

(A) Mumbai and Howrah

(B) Ernakulam in
Howrah

Kochi and

(C) Nizamuddin and Mumbai

(D) Baroda and New Delhi

In ISSF World Cup, Jitu Rai won the
Gold Medal in which event?

(A) 10-meter pistol shooting
(B) 50-meter pistol shooting
(C) 50-meter rifle shooting

(D) None of the above

4, WU __ TE QA ¥ [y

45.

46.

HM|

(A) 38&af, 2020

(B) 37af, 2020

(C) 38df, 2019

(D) 37df, 2019

WRa R W ‘aied’ W R o
et oft?

(4) TR T TS

(B) =it 1 Tige™ & TS
(C) TeTgd o g

(D) e e 7 foght

g0 WHo ThHo Tho Tavd &7 H fiq W
fopqr wicefiveT % forg =l vee s gan?

(A) 10-#ix frem yfen
(B) 50-Hix fuees gfen
(C) 50-HIX TUgHat i

(D) 39w | & A T

1027 /UE-JT/RCE-E/4-A
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47.

48.

49.

50.

Thamirabarani is a river in which of
the following States?

(A) Telangana

(B) Andhra Pradesh

(C) Kerala

(D) Tamil Nadu

Which of the following Aircraft

carrier warships was recently
decommissioned?

(A) INS Viraat
(B) INS Vikrant
(C) INS Varsha
(D) None of the above

Sandeep Das has got Grammy
Award for for the world of

music.

(A) 58th,
(B) 59th,
(C) 58th,
(D) 59th,

2016

2016

2017

2017

Who is the new Chairman of Tata
Sons?

(A) Abhijit Sarkar

(B) Ishaat Hussain

(C) N. Chandrashekharan

(D) Ratan Tata

47.

48.

49.

50.

et Fefofea & @ e W R
7 37

(A) TEETHT
(B) Ty WX
(C) &

(D) aferTg

Arefafad 3§ ¥ PH-w REH-awS geu@
T & T 3w | =R TR e

(A) 3Tgo To THo ferre

(B) 3Tgo To THo far

(C) Mg To THo i

(D) 3IwE | & Fg T

Wi g § wdw em w il
R % fa e

(A) 583f, 2016

(B) 594f, 2016

(C) 58di, 2017

(D) 59af, 2017

22T GG F U EAG BH 87
(A) IfrEhd R

(B) T g
(C) o TSIITH
(D) T T

SPACE FOR ROUGH WORK / T% FM & o7 g
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51.

52.

53.

54.

PART—II / |uwi—II
General Knowledge of Computer / SR h I ST

The computer that is not considered
as a portable computer is

(A) laptop computer

(B} notebook computer

(C) minicomputer

(D) palmtop computer

Where was the first computer
introduced in India?

(A) Indian Institute of Technology,
Delhi

(B) Indian
Calcutta

(C) Indian
Bangalore

Statistical Institute,

Science Institute,

(D) Indian Iron and Steel Company,
Burnpur

What is EDP?

(A) Electronic Data Port

(B) Electronic Data Personal

(C) Electronic Data Power

(D) Electronic Data Processing

A gate, which is also known as

Inverter is

(A) AND

(B) OR

(C) NOT

(D) NAND

51.

52.

53.

qE FFYH, S TH Qioad HR A
ST R, B

(A) 9T HRR

(B) TeTH FIR

(©) PR

(D) TR HFYR

WRA § UgA wFR wEl wmua |
T T

(A) s Srehfieh deom, Rgh

(B) R GifGrehl HeH, hetehull
(C) ¥R fagm &M, SR

(D) ¥R ST e Wia HAT, S

EDP 7 87

(A) Electronic Data Port

(B) Electronic Data Personal
(C) Electronic Data Power

(D) Electronic Data Processing

54. TH 2, Nl = i Fr S R, ®

(A) AND
(B) OR

(C) NOT
(D) NAND

1027 /UE~JT/RCE-E/4-A
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85. Select the smallest memory size. 55. G9Q B ﬁmmﬁﬁ"{l

(A) Terabyte (A) =T
(B) Kilobyte (B) forctiamge
(C) Megabyte (C) WTEEe
(D) Gigabyte (D) firmaTge
56. Which of the following techniques is 56. F=fiRag & @ P-4t 9olls 5= 351 5
best suited for bank cheques? e g0 w%?
(A) MICR (A) MICR
(B) OCR (B) OCR
(C) OMR (C) OMR
(B) BAR (D) BAR
57. Which printer is normally used in 57. #9-u1 fr amrEa: dwe fSm W
desktop printing? sy BT 27

(A) Dot-matrix printer . .
(A) Dot-matrix printer

(B) Daisy-wheel printer . .
(B) Daisy-wheel printer

(C) Laser printer .
(C) Laser printer

(D) Ink-jet printer ] .
(D) Ink-jet printer

58. With the combinations of ,

and _ colours, other 58. 5 ¥R Tt % A |
colours can be shown. At T T S w7
(A) red, black, blue (A) @, Bra, e
(B) red, green, blue (B) &, &, fiem
(C) red, black, yellow (C) e, i, e
(D) yellow, green, blue (D) e, &1, Hien

SPACE FOR ROUGH WORK / T &H % foq s
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59.

60.

61.

62.

In a computer, which device is
functionally opposite to a keyboard?

(A) Joystick

(B) Trackball

(C) Mouse

(D) Printer

The operating system is the most
common type of ______ software.

(A) communication

(B) system

(C) application

(D) word processing

Pick the odd one out.
(A) Access

(B) UNIX

(C) MS-DOS

(D) WINDOWS-2008

The main difference between
WINDOWS and DOS is the ability to

(A) speed up
(B) multitasking
(C) communication

(D) run a program

59.

60.

forelt e # B-w fearmm FEiae
Y Foftueat & faadia g 27

(A) Joystick

(B) Trackball

(C) Mouse

(D) Printer

AR Rren A< HHA TR
____ software 2l

(A) communication

(B) system

(C) application

(D) word processing

61. F= @ @ eem & ghm)

(A) Access

(B) UNIX

(C) MS-DOS

(D) WINDOWS-2008

62. WINDOWS T DOS # J&I 3| &

&Harl

(A) speed up

(B) multitasking
(C) communication

(D) run a program

1027 /UE-JT/RCE-E/4-A
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63.

64.

65.

66.

To save an existing file with new
name at new location we could use
command.

(A) Save
(B) Save as
(C) Save and Resume

(D) Save and Exit

Cell address $A4 in a formula means
it is a

(A)
(B)
(€
(D)

absolute cell address

relative cell address

mixed cell address

None of the above

Which PowerPoint view displays
each slide of the presentation as a

thumbnail and it is useful for
rearranging slides?

(A) Slide sorter

(B) Slide show

(C) Slide master

(D) Slide design

The Web browser developed by
NCSA (National Centre for

Supercomputing Applications) in
1992 is

(A) Opera
(B) Netscape
(C) Mosaic
(D) Firefox

63.

64.

65.

66.

AT HIEE H1 T AW Y 75 e W WA
(save)W%ﬁN%ﬁ___mm
TEUTA T Hhd 2

(A) Save

(B) Save as

(C) Save and Resume

(D) Save and Exit

BT H cell address $A4 ad § fp
TR

(A) absolute cell address

(B) relative cell address

(C) mixed cell address

(D) 39t | & HE T

fre TeRuTEE g H Ut W RS

ape S Rea s wmwEl W
TreHafeE A T g TRAT BT 7

(A) Slide sorter

(B) Slide show

(C) Slide master

(D) Slide design

NCSA (National Centre for

Supercomputing Applications) SN
1992 7 fyewfia foran T 99 SR @

(A)
(B) “eEHT
(C) HH
(D) A
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67. Which of the

68.

69.

70.

following
PageRank algorithm?

(A) Yahoo
(B) Baidu
(C) Google

(D) None of the above

The full form of http is

(A) hypertext transfer program
(B} hypertext transfer protocol
(C) hypertext test program

(D) hypertext test protocol

Which of the following is not an

antivirus software?
(A) NAV

(B) F-prot

(C) Drupal

(D) McAfee

Which of the following is
self-replicating virus?

(A) Worm
(B) Macrovirus
(C) Time bomb

(D) Trojan

uses

67. w1 & & F-T WsitE Ve =l <

68.

69.

70.

EGI 3
(A) AR
B) ¥
(C) T
(D) Swth § ¥ i e

http %1 0 &9 ®

(A) hypertext transfer program
(B) hypertext transfer protocol
(C) hypertext test program

(D) hypertext test protocol

= & ¥ FF-w WerRnd aiea® T8
(A) NAV

(B) F-prot

(C) Drupal

(D) McAfee

fm & ¥ FR-w
(wa-wfaepla) arra 27

(A) @
(B) FshiamRE
(C) A A
(D) gSF
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71. The line spacing between two lines
can be increased in MS-Word using

72.

73.

(A)

(D)

Home tab — Insert — Line
spacing

Home tab — Paragraph — Line
spacing

Insert — Paragraph — Line
spacing

Insert — Style — Line spacing

Which of the following is not a
multimedia application?

(A)

(B)

(€)

(D)

Online games

PowerPoint Presentation with
text, audio and video

Language learning software

Corel Graphics file

Select the correct audio file format.

(&)
(B)
(©)

(D)

FLIC

WAV

SWF

GIF

71. MS-Word ¥ & ufwdl (wrgi) % wed
siqTe o Fr= T @ ReEe T R g
S TR 87

72.

73.

(A)

(B)

&)

(D)

Home tab — Insert — Line
spacing

Home tab — Paragraph — Line
spacing

Insert — Paragraph — Line
spacing

Insert — Style — Line spacing

Arfafgg § ¥ FHA-U1 TH Hedwitedl
Fefiorye W& 27

(A)

(B)

©)

D)

AT T

e, wfel @ @A ¥ I
LGRS L]

are] drEe % e wigeam
HIe W g

o e wea wie 9 i

(A)
(B)
(€)

(D)

FLIC

WAV

SWF

GIF
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74. Spherical videos are also known as

75.

76.

A)
(B)
(€)

(D)

2-D video

3-D video

4-D video

360° video

The storage capacity of a normal
CD-ROM is about

(A)
(B)
(C)

(D)

700%(1024)° bytes
700%(1024)! bytes
700%(1024)% bytes

700%(1024)° bytes

Choose the correct order of capacity
(smallest to largest) of the following
storage media :

(A)

(B)

&)

(D)

Floppy Disk — Blu-ray - CD —
DVD

Blu-ray - DVD — CD — Floppy
Disk

Floppy Disk - CD — DVD —
Blu-ray

Floppy Disk — CD — Blu-ray —
DVD

74, SHierd (MaeRr) ifed =1 e s

75.

76.

(A) 2-D difen
(B) 3-D difew
(C) 4-D difen
(D) 360° Hife

T Ho So-Tn i WRS (er)
T BRI

(A) 700x(1024)° =TgeH

(B) 700x(1024)! srged

(C) 700x(1024)% aEH

(D) 700x(1024)® a1EZH

Frafafga ©Re wreadt 6t grar =l
w9 (TE DT A g9 w9) g

(A) T o —» S - o f
Ho o Fo

B) =X - Hoflodle —» He &
waArd fewh

() vt femm —  HoHo
o o o — G

(D) vt fee — Hio Ho — -
'eﬁo‘qﬁo?ﬁo
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77. The process of making tracks and

78.

79.

80.

sectors into a disk is called
(A) writing

(B) tracking

(C) formatting

(D) cracking

Pen driveis a ______ type of storage.
(A) magnetic

(B) sequential

(C) solid state

(D) optical

Youtube videos can be downloaded
using which of the following
softwares?

(A) Airy

(B) Windy

(C) Cloudy

(D) Drupal

A free video and content providing
web site for teachers and students is
(A) www.collegetube.com

(B) www.universitytube.com

(C) www.studenttube.com

(D) www.teachertube.com

77.

78.

79.

80.

fowr @ 9@ w@ aed aW H AR W
Ed 8

(A) writing

(B) tracking

(C) formatting

(D) cracking

™ gra e Q4 e TR w1 Wi
(V=R R

(A) AR (grehia)

(B) Rresisrret (37gshir)

(C) difere Wz (3w rae)

(D) e

- 4 difen =i SRS R S wehdn
R, T § @ g wiweaeR 1 wemar |7
(A) Airy

(B) Windy

(C) Cloudy

(D) Drupal

gt @ oEl ¥ fog fuges it @
Al YeF A Il 99-91e ®

(A) www.collegetube.com
(B) www.universitytube.com
(C) www.studenttube.com

(D) www.teachertube.com
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81.

82.

83.

84.

85.

 PART—III / ST—III
General Mental Aptitude / QT AT ARFgat

Touch : Feel :: Greet : ?
(A) Smile

(B) Manner

(C) Acknowledge

(D) Success

Illiteracy : Education :: Flood : ?
(A) Rain

(B) Bridge

(C) Dam

(D) River

‘Concert’ is related to ‘Theatre’. In
the same way ‘Banquet’ is related to
(A) Hotel

(B) Party

(C) Feast

(D) Supper

Find the odd one out :
(A) Cot

(B) Quilt

(C) Pillow

(D) Blanket

Find the odd one out :
(A) CID
(B) AGA
(C) DSP
(D) KRX

81.

82.

83.

84.

85.

et : HEgy o b ¢ 7
(A) g

(B) i

(C) MR

(D) Gherdn
Frear - e =@ 2 7
() =si

(B) 3

(C) sa

(D) &

‘ndY’ = e g TR RR @
I WER ‘N B T R
(A) BT H

(B) & A

(C) JEaq

(D) TES |

Ghaam%,aﬁmaﬁ:
() ®Pe
(B) =&
(C) @t
(D) e

N I %, 3] I R
(A) CID
(B) AGA
(C) DSP
(D) KRX
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93. Which number is in all the figures?

A) 3
(B) 4
©) 5

(D) 8

94. Which letter represents men who are
teachers but not singers?

Men

Teachers

Singers— g

(A) b
B) d
C e

D) f

93. ®F-|1 3 avft Rt § 27

94,

A) 3
(B) 4
€) 5

(D) 8

Eﬁq-ma?mwmrﬁﬁm%,sh
Reres & wog e T 27

D) f
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95. Which number

96.

97.

indicates leaders
who are neither postgraduate nor
engineer?

Postgraduate
A?a Engineer
Leader
A) 1
(B) 4
€ 5

(D) None of the above

In certain code ‘guda, buka’ means
‘clear water’, ‘pin, gola’ means
‘overcast sky’ and ‘pin, saf, buka’
means ‘clear blue sky’. What is the
code for ‘blue’?

(A) pin
(B) buka
(C) saf
(D) gola

If ERY = 62, XPW =54, then MZV = ?
(A) 19

(B) 61

(C) 75

(D) 858

95. HF-Ul 3k I@ Ad1 I Wl B, S A

96.

TR & T @ TR B ?
LS IGEANKE
s\ 2
% EEIIERH
Ja
A) 1
(B) 4
(O
(D) 39w & ¥ Fg T
et wipfos Wi # ‘guda, buka’
Hadd ‘clear water’; ‘pin, gola’
Hadd ‘overcast sky’ d¥ ‘pin, s:

buka’ &1 Hddd ‘clear blue sky’
‘blue’ 1 i 71 &7

(A) pin
(B) buka
(C) saf
(D) gola

97. IR ERY =62, XPW =54, @ MZV =

A) 19
(B) 61
(C) 75
(D) 858
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98. If KNOWLEDGE is  written as 98,

256535475, then GENERAL s
written as

(A) 7555931
(B) 7555913
(C) 7555139
(D) 7555193
99. If LION is written as ORLM, then
TIGER is written as
(A) ZRKVS
(B} GRTVS
(C) GROVI
(D) GRTVI

100. If92=7] 1, 48 =31, then 97 = ? 100.

A) 16

(B) 19

(C) 41

(D) None of the above

l01. What should bpe the number 101

Opposite side of 27
2 L6 ) 17
(4) &
(B) 6
©) 4
D) 1

29,

R KNOWLEDGE H 256535475
for@a &, & GENERAL % 33 fRya@i?

(A) 7555931
(B) 7555913

(C) 7555139

(D) 7555193

f LION %t ORLM Ry %, W TIGER
I R oy

(A) ZRKVS

(B) GRTVS

(C) GROVI

(D) GRTVI

M 92=11, 48=31,W97=>7
A) 16
(B) 19
(C) 41

(D) 3T § F Hé et
2%:3émﬁaﬁw-maiaﬁm?

(4) 5
B) 6
(C) 4
D) 1
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102.

103.

104.

()
® L]
© [
o) [

There are three rows of figures. In
the second row, one figure is
missing. Find the missing figure :

71|34

.

[4

Choose the correct water image of
AIM3b

(A) VIN3P

(B) VINS3P

(C) VIN3P

(D) VINEP

How many'triangles are there in the
following figure?

(A) 20
(C) 28

(B) 24
(D) 32

102. sHRE B @ dfet §) gl O
TR g ¥ R AR R

r.

N ?

4

(A)

(B)

€

(D)

A1M3b 1 TE A TS F
(A) VIW3P
(B) VIN3P

103.

(C) VINW3P
(D) VINEP

104. F= fm 7 fraw e 7

(A) 20 (B) 24

(C) 28 (D) 32

SPACE FOR ROUGH WORK / % w1 & foe S8



105. How many parallelograms are there | 105, = o & AR a@ﬁ\‘ﬂ &7
in the following figure?

[FTT7
FH |

@ 20 (A) 20
B 24 (B) 24
©) 28 (C) 28
D) 30 (D) 30

106. H 9T FIq HL

106. Find the missing term :

(A) 32 A) 32

(B) 54 (B) 54

(C) 74 (C) 74

(D) 80 (D) 80

107. Find the missing term : 107. U 98 919 W :

8x9=2724 8x9=2724
4x2=612 4%x2=612
7x3=921 , 7x3=921
6x8=7? 6x8=7?

(A) 1224 A) 1224

(B) 2418 (B) 2418

(C) 1824 (C) 1824

(D) 1215 , (D) 1215

SPACE FOR ROUGH WORK / % %™ ¥ R sz
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108. Find the missing term : 108. ’Q’anmﬁ i

3| 1] 4 3|11 4
5| 4|7 51 4|7
2| 8 | ? 2| 8| ?
38 | 81 | 74 38 | 81 | 74

A) 9 (A) 9

(B) 6 (B) 6

(C) 3 € 3

(D) 7 D) 7

109. Find the missing term : 109. '@H‘E’Sﬂﬁﬁ g

5 13
NP Pl Pl
4 12

4 12 15

A) 2 (A) 2

(B) 6 (B) 6

€ 8 (C) 8

(D) 64 (D) 64

110. Find the missing term : 110. '@T‘ﬁiﬂ'ﬁﬁ :

c|F|H C|F|H
E|H|D E|H|D
D|G]|?] D |G| ?

(A) F (A) F

(B) G B) G

€ H €) H

(D) 1 (D) 1

SPACE FOR ROUGH WORK / T% %M % forg s



PART—IV / swm—iv
General Mathematics / g it

111. If the number 97215+6 is completely
divisible by 11, then the smallest
whole number in place of * will be

A) 3
B) 2
) 1
(D) 5
112, What is the unit digit in the product
B547)1%3 x 25172
A) 1
B) 9
© 7
(D) None of the above

113. The correct expression of 6- 46 in the
fractional form is

646
A) —=
A) =
64640

B) 1000

640

(C) 100

640

(D) 99

112,

113.

m*%mwmmwmm
(A) 3
(B) 2
€ 1
(D) 5

THHA (3547)'%3 x (25772 3 TR 3%
1 gm?

A) 1
B) 9
(C) 7

(D) 9% & ¥ ¢ i

e v 3§, 6-46 % forg ad srfirafy
3 |

646
99

64640
1000

640
100

640
99

(A)

(B)

(€

(D)

SPACE FOR ROUGH WORK / & F ¥ fRm g
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114. If -
3-718

. W
0-0003718

(A) 2689
(B) 2689
(C) 26:89

(D) None of the above

115. On simplification
Ja2-92 -8 121+[0-25? +(0-25)/(19-95)] =

@A) 2
(B) V2
(C) 4

(D) V3

116. The value of

-
10+ J;5+ J108+/154++225  is

A) 4
B) 5
© 5

(D) None of the above

=0-2689, then the value of

1
0-000:

1
114. 3R ~0-2689, al
3.718

mm"é?n
(A) 2689
(B) 2689
(C) 2689

D) 30 § A A T

115. G A |
~@8-1?%]+]0:25°

[12-1>3 +(0-25)(19-¢

A) 2
(B) 2
€y 4

(D) V3

116. {10 +,\[25+ J108+ 154+ 4225
M &

(C) 5

D) 37w § A HE T

SPACE FOR ROUGH WORK / T @ % fog s
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117. Three different containers contain

118.

119,

496 litres, 408 litres and 713 litres
of mixtures of milk and water
respectively. What volume of biggest
measuring flask can measure all the
different quantities exactly?

(A) 1 litre

(B) 7 litres

(C) 31 litres

(D) 41 litres

Four different electronic devices

make a beep after every 30 minutes,
1 hour, 11 hours and 1 hour

45 minutes respectively. If all the
devices beeped together at 12 noon,
they will again beep together at

(A) 12 midnight

(B) 3 am

(C) 6 am

(D) 9 am

The average age of a class of
39 students is 15 years. If the age of
the teacher is included, then the

average increased by 3 months. The
age of the teacher is

(A) 15 years 3 months
(B) 25 years
(C) 20 years 2 months
(D) 23 years

117. ?ﬁqmmﬁﬁngﬁmﬁmﬁmm:

118.

119,

496 ©fto, 408 wfto 7oy 713 e 31w
WS W W A ww g 7, Tray
ST HT Bmr?

(A) 1 o

(B) 7 o

(C) 31 o

(D) 41 o

IR UIF TORIF I oy ye
30 e, 1 ey, 11 521 9o 1§ 45
ﬁ%ﬁ@aﬁv(wﬁ)éﬁénww
ﬁm,ﬁ%gw:mwaﬁq(wﬁ)éﬁ?
(A) 12 5 Ry

(B) 3 9 Ura:

(C) 6 9 wma:

(D) 9 s 9ra:

39 faenifat & wF wer B siveq 3y

15 99 81 9t fes 6 ATg S et R,
a‘raﬂwa}@smgaasrﬁﬁ%lﬁwaﬁ

g B

(A) 1539 3 g
(B) 25 =d

(C) 20 99 2 7z
(D) 23 =d

)27 /UE-JT/RCE-E/4-A
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120.

121.

122.

Which is greatest among

162%, 2, 0-17 and 25
w 7@ m15 3

(A) 162 %
3

2
(B) 5
(C) 0-17

o) 2

While covering a distance of 24 km,
a man noticed that after walking for
1 hour and 40 minutes, the distance
covered by him was 5 of the

remaining distance. What was his
speed in meter per second?

5
® 27

2
B) 1—-
® 13
2
C) 2—
© 23
(D) None of the above

With —56 of its usual speed, if a train is
10 minutes late, then the usual time
to cover the journey is

(A) 50 minutes

(B) 1 hour 20 minutes

(C) 30 minutes

(D) None of the above

120.

121.

122.

163%, —2;, 0-17 aMn 2 %3 w
377 15 3

7Y
20
(A) 16%

2

(B) 15
(C) 0-17

o 2

04 feo o H gh T Fd I T
@ Afw fem @ @ fF o1 d
40 fFz =@ % T st SHE W
T gh [ gh B § A ORI IEE
Hio /qo H T fi?

5
@) 27

2
B) 13

2

© 23

(D) ST H & K TE

o 3 o W TR
10 fire @2 @, A IEN FHHER
T 3 g 2t

(A) 50 P

(B) 1 ¥ 20 e

(C) 30 e

(D) I § & HIE T

SPACE FOR ROUGH WORK / Th ¥ % o <R



123.

124,

125.

A man bought a horse and a
carriage for ¥ 3000. He sold the
horse at a gain of 20% and the
carriage at a loss of 10%, thereby
gaining 2% on the whole. Then the
cost of the horse is

(A) ¥ 2900

(B) & 1200

(C) ¥ 2000

(D) None of the above

The price of a jewel, passing through
three hands, rises on the whole by
65%. If the first and the second
seller earned 20% and 25% profits

respectively, then the percentage of
profit earned by the third seller is

(A) 10%

(B) 20%

(C) 50%

(D) None of the above

A sum of ¥ 1550 is lent out into two
parts, one at 8% and another one at
6%. If the total annual income is

¥ 106, then the money lent at each
rate is

(A) ¥600 and ¥ 900
(B) ¥650 and ¥ 900
(C) ¥450 and ¥ 950
(D) None of the above

123.

124,

125.

@wﬁsﬁ?soooﬁwtﬁ@aﬁt@
e TWhETI I AR F 20% @ sk
TE H 10% T W I FW A 2%
9 TR, @ SR ) B 2

(A) € 2900
(B) ¥ 1200
(C) ®2000

(D) 3ugw & ¥ #E 7

T el h wd, o R B e @
@Eﬁtmgq,am%%aaam%w&
T AR g@ B Y s 20%
25% @™ TR, @ AR R w1 @y
wfcere gm

A) 10%
(B) 20%
(C) 50%

(D) 39F ¥ F B 7

¥ 1550 &t uxft A & 9wt F, wwar 8o
T T 6%, T 0 W foar mn) AR g
mﬁmm?loeﬁ,ﬁmammaﬁ
LR

(A) ¥ 600 3t & 900
(B) ¥650 3R & 900
(C) ¥450 R 950

(D) 3ugw # A A 7

027 /UE~JT/RCE-E/4-A
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126.

127.

128.

A bag contains 50 paise, 25 paise
and 10 paise coins in the ratio 5:9:4,
amounting to ¥ 206. The number of
coins of 10 paise is

(A) 140

(B) 160

(C) 360

(D) None of the above

Seats for Mathematics, Physics and
Biology in a school are in the ratio
5:7:8. There is a proportional
increase in the seats by 40%, 50%

and 75% respectively. What will be
the ratio of increased seats?

A 2:3:4

B) 6:7:8

(C) 6:8:9

(D) None of the above

During first year, the population of a
town increased by 5% and during
the next year, the population
decreased by 5%. If at the end of the
second year the population is 9975,

then the population at the beginning
of first year was

(A) 9500
(B) 9000
(C) 10000
(D) None of the above

127.

128.

126. w3 & 50 W, 25 W, 3R 10
R 5:9:4 % oy § W@ g, Fa
# 206 21 10 ¥ % Rt HrEEM R

(A) 140

(B) 160

(C) 360

(D) I0g | & HIE T

et Raem § Rm,  ide-3n

ha-fam el & @e w1 g
2| T W 40%, 50% aR

wﬁ%q@ﬁnﬁa@énﬁz
AT T ER?

A) 2:3:4

B) 6:7:8

C) 6:8:9

(D) ST & & g T

frelt T Y SHEE TEd 9 5%
Fedt ¥ 3R o 5% 1 1

S 2y AR g oAl H oo H
9975 2, i Tea ¥ % WA H IR

(A) 9500

(B) 9000

(C) 10000

(D) 30 T | HIE T

SPACE FOR ROUGH WORK / T [ % oY SR
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129. The angle which exceeds its

complement by 20° is
(A) 45°
(B) 55°
(C) 70°

(D) 110°

130. The angle which is one-fifth of its

complement is

(A). 15°

(B) 30°

(C) 45° !

(D) 60°

131. The sum of the exterior angles of a

hexagon is :
(A) 360°
(B) 540°
(C) 720°

(D) None of the above

129. 3 T, St o9 g A A 200 s
W

(A) 45°
(B) 55°
(C) 70°

(D) 110°

130. 3% oy, sﬁmﬁq@aﬁwaﬂé%, B
(4) 15°
(B) 30°
(C) 45°

(D) 60°

131. W % AT it w1 Ay 2
(A) 360°
(B) 540°
(C) 720°

(D) 39w & & =1 7

SPACE FOR ROUGH WORK / 1% % ¥ fore sorg
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132. The perimeter of a triangle is equal

133.

134.

to k times the sum of its altitudes,
then k is

A 1
B) O
(C) less then 1

(D) None of the above

A circle is divided into 12 equal
parts. The number of degrees in
each arc is

(A) 60°

(B) 30°

(C) 45°

(D) None of the above

If each interior angle of a regular
polygon is twice as large as the
exterior angle, the number of
sides is

(A) 4

(B) 6

(C) 10

(D) 8

132, 3R fedy Bgw o oo e
(altitudes) % I H kTR, @

@A) 1
(B) O
(C) 19 =A

(D) 39 § | IS T

133. TH g0 & 12 SER 9Al #§ |iel T

= # fran fft g7

() 60°

(B) 30°

(C) 43°

(D) 39 # ¥ g T

i Foret Tm R B T AR

T G R, @ 9y H
e el

134.

(A) 4
B) 6
(€) 10

(D) 8
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135. The Opposite angles of 2 cyclic
quadrilateral are

(A) supplementary
(B) complement_ary
(C) equal

(D) Not known

136. The sum of the exterior angles of a
triangle is k right angles. Then k is

4) 3
(B) 4
©) 2

D) 1

137. ABCD is a trapezium with AB||CD
and AB=2CD. If O is the
intersection of the diagonals, then

Ar (AOB): Ar (COD)

is equal to
A) 2:1
B) 3:1
(C) 3:2

D) 4:1

13S.

136.

137.

aﬁaﬂgﬁa%mmﬁ%%
(8) W
(B) @
(C) =R

(D) wreA &

!Tféﬁm?ﬁga%m@mﬁmﬁnk
BRI R, @ kB W D

(A) 3

(B) 4

(C) 2

D) 1

ABCD & wimw-wpiy t g

4B|ICD 3R AB=2cD%| =R o
F o owEA-fg 2, @

Ar (AOB): Ar (COD) s/’ 3y

A) 2:1

B) 3:1

€ 3:2

D) 4:1

SPACE FOR ROUGH WORK / T w & fou s
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138.

139.

140.

The number of bricks, each
measuring 24 cm x 12 cm X 8 cm,
required to construct a wall 24 m
long, 8 m high and 60 cm thick, if
10% of the wall is filled with mortar,
is equal to

(A) 20000
(B) 45000
(C) 25000

(D) None of the above

A tank 4 m long, 2'5 m wide and
1'5 m deep is dug in a field 31 m
long and 10 m wide. If the earth dug
out is evenly spread out over the
field, the rise in the level of the field
is

(A) 31 cm

(B) 48 cm

(C) 5 cm

(D) 62 cm

Two cubes have their volumes in the

ratic 1:27. Find the ratio of their
surface areas.

(A) 1:3
B) 2:8
€ 1:9
(D) None of the above

138. 24 ¥o o x 12 Te Mo x 8o T
EI-CA 04 o wwh, 8 Ho F
60 o o N AR W H I
| AR 10% GEr Hel § il
&} &1 wem 3ft

(A) 20000
(B) 45000
(C) 25000
(D) S F ¥ HE

130. Fedt fem, St 31 o T I
et 2, § T &, 4 Ho T,
drer @ 15 o W, @ T
et g8 Frgt e # W w9 9
wTe, A BeW o TR 3 foha I8 ¢
(A) 3-1 Fo Hlo
(B) 48 To Hlo
(C) 5 Fo o
(D) 6-2 Ho Hlo

140. =f < w1 % ARG H AGIE 1
I qA-29%al (surface ar
I BT
(A) 1:3
B) 2:8
€ 1:9
(D) 39 § & Ig T
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PART—V / 9rm—V
General Hindi / AWM fa=h

141. frfoRen & 4 srgaifes aof ¢ 144. P % § He-wr o agaee w=dt a

i 27

@ =
() TS, =TT, e, G

B) @
(B) e, wlel, e, quaten

€ w .
(C) &=, s, &i3, i

(D) =

(D) TSF, FIR, W, yreend

142. foclt & =i it < ot v 145. s et ¥ R v &7

(A) 33 +2

A @
(B) 33 ®) @
() 34 ©
(D) 32 (D) T

143. ‘jﬁmmiﬁﬁml”mmﬁi’@iﬁm 146. “‘auial TR W N wedt 217 e F e
T o R

—_EWRI
@) gfem (4) =TS
(B) =ferT (B) *eaTe
(C) Ty fem (C) e
(D) 3% & & =g 7 (D) @& 7 &

SPACE FOR ROUGH WORK / % & % fiyu wme
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147.

148.

149.

“og gy § A0 A § TR EOSRE W
ﬂwél”mamﬁmmﬁmﬁg
34

(A) T wwsE

(B) i g

(C) T e

(D) Toram el

?mﬁwﬁmwmgm

(A) @@Wﬂmﬁ@a@m

B) W Rawet drg et 0w A

(€ & Raend fem B 0 W@ Al

(D) SR g Raard & dew o = T
Sl

“rafrt @ TR feR-ged @ OT

e e B o1 SETET /Y

(a) T dge

(B) TiRpsYe Ggh Rl

(C) T U R

(D) srgfasivers Ty e

152.

150, Gfars St Fefafed # 3
g § 77

(A) RO -3 HE § H
(B) = T R ¥
(©) dee-wgE A5 A

(D) wigw Tif & =TSN & T A

151. aegwwmﬁaﬁq-mnam@mi
(A) =H

(B) WA

(c) ifm

(D) i T

“qg e S wwaE R
Yaifra g 0 § -T G B
() 4 TG

(B) W I

(C) =0T dcged

(D) T qges

SPACE FOR ROUGH WORK / T% w1 & fog SR



153.

154,

155.

5% W9 % fhaq 92 §7
(A) T
B) A
(C) =R
(D) &=

Tl wIee % W e & g 2
(4) Tghfe

(B) fag

(C) dcgem

(D) r=fisr

"HEHTa W e g 2
(A) 3 =TT

(B) ®c ¥ wya

(C) W% 3 wra

(D) W2 % o1 wran

. wf-fedT ‘o + 3% @ A aren e 2

(8) sE=ds
(B) s
(C) ST
(D) =de

157,

158.

159.

160,

(C) waT + Vv
(D) @: + Uy

ﬁmﬁrﬁaaﬁ@%aﬁ#&mmgan%?
(A) Tl

(B) fafy

(C) FATFER

(D) Ferae

027 /UE~JT/RCE-E/4-A
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edar T § S wER FE-H

164, Trefafad i & F-a1 I w7

161.
e ®7
(A) S e (a) v s o R
() T e wwreh (B) Ia 3 1% ferd|
(c) dfy wwr () TE I 7ol N ferd)
(D) 3T wf (D) I o T for |
162. A H D GE IR T 165. Trefafas & & ) e FA- R
W P ) g e e R T
B) T (B) ¥ITE Ht, Te T
© B (C) F I A T T
(D) T ) s 1 g L, 7
163. g%q’ﬁm%ﬁaﬁﬁﬁm%mﬁam a2e et s G
(a) = (&) fah
B) 3% B) ToE
(©) ¥ ©) ¥
(D) forrewt P—

SPACE FOR

ROUGH WORK / T 1 % fog s7e



167.

168.

169.

170. °

Treafafea # & qem v 2
(A) m
(B) =
(C) T
(D) &

W F qoH T R
(A) ot

(B) w4

(©) "=

(D) w=%

A W Tee §
(A) St geem w9 F R & e @ @

(B)aﬁﬁ@?f@?mﬁﬁwmﬁ
et d o §

(C) < ord ot w9 & Rt & s W &
(D) I weft

171

172.

173.

174,

. Frafafes & 9 #9-m ‘s’ v W
RRIECICIR I T Y

(A) =T
(B) @
(C) wm
(D) T

T B e e @
() =

(B) ©am

(C) gam

(D) g

R W S T §

(A) oot wa, voRm

(B) W, 4, frFe

(C) 37, T

(D) g9, fomw

Frfifea # & 9w w= T ¥ ok @
raferg Wl 27

(A) Wit

(B) SreAmH

©) =
(D) 9B

027 /UE-JT/RCE-E/4-A

SPACE FOR ROUGH WORK / 1% %™ % fore s



‘@m(wﬁ)mﬁwgm%’ézm
TH TE ©

175.

(A) R =
(B) |1

(C) weETH
(D) €&q

mﬁmﬁaﬁ%&mmw%ﬁwﬁﬁn
T

176.

(A) FFSR-USR el &
(B) FIR FEFa
() 3-3T

(D) ifdi # 9 T8

177. FE
(A) T SRR B R
(B) T o Bl ©
(C) T UE Bl
(D) T =T T B

178. Waﬁm%ﬁaﬁﬁm!aﬁ
ré it g, A e

(a) -t e R
(B) & § dre, o AR
(C) e e | SR

D) A H A TR A

179. ‘%-ﬁmmﬁ(m’mmwf
() HR-eR =TT

(B) TR hed TET

(C) OrE-GHH FHE FA

(D) 3w T

‘Sl =afr % T8 U IR A S
g 7 2 % R ITE FEE 8

180.

(A) < ¥ e 3 7w
(B) S S @ 99, RS0
(©) m%ﬁtﬁaﬁa‘?maﬂ

WEEER I g

SPACE FOR ROUGH WORK / T% @ % *Q IR



181.

182,

183.

PART—VI / 9m—V1I
General English / QW= Mt

In which of the following sentences

‘band’ is used as verb?

iy The morning band played
wonderfully.

(i) Don’t snap me with that rubber
band.

(ii) We will lose the fight unless we
band together.

(iv) The authorities banned the film
from the festival.

(A) () and (iii)

(B) (i) and (iii)

(C) (i) and (iv)

(D) (i) and (iv)

Complete the following sentence by

inserting the correct alternative from

the given choices :

There are just __ apples left.

(A) few

(B) a few

(C) little

(D) a little

Identify the correct part of speech of

the underlined word of the following

sentence from the given alternatives.

Each of the girls is shy.

(A) Adjective

(B) Adverb

(C) Pronoun

(D) Preposition

184,

185.

186.

187.

Choose the right adjective from the
given alternatives and complete the
following sentence :

Anand is the of his two sons.
(A) senior

(B) older

(C) bigger

(D) elder

Identify the gender of the underlined
word in the following sentence

A peacock is a very proud bird.

(A) Masculine

(B) Feminine

(C) Common

(D) Neuter

Choose the incorrect sentence.

(A) My mother walks like | do.

(B) My mother walks like me.

(C) It looks like rain.

(D) It looks as if it’s going to rain.

Pour the milk a pan.
Insert the most appropriate
preposition from the given

alternatives and complete the above
sentence.

(A) on
(B) in
(C) into
(D) in to

027/UE-JT/RCE~-E/4-A
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188.

189.

Identify the most appropriate choice
that transforms the following
sentence into indirect speech :

Someone asked, “Why doesn’t she
resign?”

(A) Someone asked why didn’t she
resign.

(B) Someone asked that why she
didn’t resigned.

(C) Someone asked why she doesn’t
resign.

(D) Someone asked why she didn’t
resign.

Out of the four alternatives
suggested, choose the one which
does not express the following
sentence in passive voice correctly :

He urged the council to reduce the
rates.

(A) The council was urged to reduce
the rates.

(B) The council were urged to
reduce the rates.

(C) He urged that the rates should
be reduced.

(D) The council urged that the rates
have to be really reduced.

190. Pick out the sentence from the
alternatives that best expresse
following sentence in passive vo

What makes these holes?
(A) What were these holes mad
(B) What are these holes made

(C) These holes were mad
whom?

What have these holes
made by?

(D)

191. Ann said, “Ill pay you back

week. Really I will.”

Out of the alternatives given, ¢
the one that does not €xpre:
above sentence correctly.

(A) Ann promised to pay hin
the following week.

(B) Ann said that she wou
him back.

(C) Ann said that she will p:
back next week, really.

(D) Ann assured him the
would pay him back. .

Choose the word which i
nearly opposite in meaning
following word given in capi'

ABUSIVE

192.

(A) Decent
(B) Savage
(C) Major

(D) Volatile
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193.

194,

195,

196.

Select the word which is closest in
meaning to the following word :

Hinder
(A) Lose
(B) Loose
(C) Despair
(D) Check

You look very posh in your new suit,

Which of the following words most
nearly means (is the synonym of)
the underlined word in the above
sentence?

(A) Elegant

(B) Handsome

(C) Beautiful

(D) Nice

Out of the four alternatives given,
choose the one which can be

substituted for the following
phrase :

Animals of a given region or period
(A) Flora

(B) Flock

(C) Fauna

(D) Flux

Bureaucracy  is a one-word
substitute for

(A) government by the officials

(B) government by the people

(C} government by the barons

(D) government by the few

197. Select one-word substitute for the

198,

199,

200.

following expression :
Murder of one’s parent
(A) Regicide

(B) Parricide

(C) Patricide

(D) Fratricide

Choose the correct sentence.

(A) We will spend money on cencer

devices.

(B) We will spend money on sencor
devices.

(C) We will spend money on sensor
devices.

(D) We will spend money on senser
devices.

Fill in the blank from the given
alternatives and complete the
following sentence :

The rabbits retreated into theijr

(A) borrough

(B) burow

(C) burrow

(D) borough

Choose the misspelt word from the
following :

(A) Benefitted

(B) Transferred

(C) Beginning

(D) None of the above
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2. Indicate your answers on the
Answer-Sheet provided.

1 mark is allotted for each
answer and Y. mark will be de¢
for each wrong answer.

Use of any type of calculator or ]
and mobile phone is prohibited.

While using OMR Answer-She
should be taken so that the
Sheet does not get torn or spoile
folds and wrinkles.
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